
I–121 

(Assignment Work)

(Group–I)
 FINANCIAL ACCOUNTING

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- f}&izfof"V iz.kkyh ds tud dk uke fyf[k,A 

Write the name of the profounder of double entry system. 

2- ^jke dk osru vnÙk jgk* ds fy, iath esa dkSulk [kkrk MsfcV fd;k tk;sxk \ 

Which account will be debited in journal for the transaction “Ram’s Salary remained 
outstanding.” 

3- izkfIr ,oa Hkqxrku [kkrk fdl izdkj dk [kkrk gS \ 
Which type of account is Receipts and Payments account ? 

4- kl dks"k i)fr esa vfUre o"kZ kl dks"k fofu;ksx [kkrs dk 'ks"k fdl [kkrs esa LFkkukUrfjr fd;k 
tkrk gS \ 



To which account is the balance of the depreciation final investment account transferred in 
the last year in the depreciation fund system ? 

5- fdjk;k Ø; i)fr ds vUrxZr eky dk LokfeRo Øsrk dks dc izkIr gksrk gS \ 
When does the purchaser receive the ownership of the roots under the hire purchase system 
? 

6- ;fn izkjfEHkd nsunkj ` 5]000( m/kkj foØ; ` 30]000] foØ; okilh ` 1]000 rFkk vfUre nsunkj ` 

8]000 gS rks nsunkjksa ls izkIr jkf'k fdruh gksxh \ 

If the opening debtor is ` 5,000; credit sales ` 30,000; sales return ` 1,000 and the closing 
debtor is ` 8,000 then what will be the amount received from debtors ? 

7- vodk'k xzg.k dj jgs lk>snkj dh [;kfr dk fgLlk cps gq, lk>snkjksa ds iw¡th [kkrs esa fdl vuqikr 
esa MsfcV fd;k tkrk gS \ 
In what proportion the retiring partner’s share in the goodwill is debited to the Capital 
account of the remaining partners ? 

8- QeZ ds lekiu ij v'kks/; _.kksa dks fdl [kkrs esa gLrkUrfjr fd;k tkrk gS \ 
To which account are the bad debts transferred on dissolution of a firm ? 

[k.M&c 
(Section—B) 

9- ukeek= ds ys[ks D;k gksrs gSa \ le>kb,A 

What is Nominal Account ? Explain. 

10- ,di{kh; v'kqf);ksa dks fyf[k,A 

Write the single-sided errors. 

11- kl ds dkj.kksa dks fyf[k,A 

Write the causes of depreciation. 

12- iw¡thxr lap; D;k gksrk gS \ 

What is capital reserve ? 

13- vkfJr 'kk[kk dks le>kb,A 

Explain the dependent branches. 

14- R;kx vuqikr dks le>kb,A 

Explain the sacrifice ratio. 

 

 



l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- fpV~Bs vkSj ykHk&gkfu [kkrs esa vUrj crkb,A 

State the difference between Balance Sheet and Profit and Loss account. 

16- izkfIr o Hkqxrku [kkrk rFkk jksdM+ cgh esa vUrj fyf[k,A 

Write the difference between Receipts and Payments Account and Cashbook. 

17- fd'r Hkqxrku i)fr ds y{k.k fyf[k,A 

Write the characteristics of Installment Payment system. 

18- QeZ ds fo?kVu dh ifjfLFkfr;k¡ fyf[k,A 

      Write the circumstances for dissolution of the firm. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- nksgjk ys[kk iz.kkyh dk o.kZu dhft,A nksgjk ys[kk iz.kkyh esa tuZy izfof"V djus ds fu;eksa dks Li"V 
dhft,A 
Describe double entry system ? Explain the rules of Journalising in double entry system. 

20- vk;&O;; ys[kk ls vki izkfIr&Hkqxrku ys[kk dSls rS;kj djsaxs \ fyf[k,A 

How would you prepare Receipts and Payments account from Income and Expenditure 
account ? 

21- fdjk;k Ø; i)fr D;k gS \ blds xq.k&nks"k crkb,A 

What is Hire-Purchase system ? Give its merits and demerits. 

22- fdlh lk>snkj ds vodk'k xzg.k ij mlds fgLls dk fu/kkZj.k fdl izdkj fd;k tkrk gS \ 
      How is the share of a partner determined on his retirement ? 

 

 

 

 



l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
             (Section—E) 

23- ukjk;.k ds fuEufyf[kr ryiV ls 31 ekpZ 2022 dks lekIr gksus okys o"kZ ds fy;s O;kikj ,oa 
ykHk&gkfu [kkrk rFkk mlh fnu dk fpV~Bk rS;kj dhft, % 

 ` ` 

iw¡th — 10,500 

izkjfEHkd LdU/k 3,000 — 

Ø; 5,960 — 

vkUrfjd okilh — 180 

cká okilh — 15,240 

foØ; 560 — 

Ø; ij HkkM+k 800 — 

foØ; ij HkkM+k 1,600 — 

vkgj.k 720 — 

fdjk;k 600 — 

lkekU; O;; 600 — 

deh'ku — 800 

cSad 'ks"k 1,200 — 

jksdM+ 400 — 

ns; foi= — 6,000 

nsunkj 4,000 — 

ysunkj — 3,080 

Hkou 8,000 — 

e'khu 4,000 — 

izkI; foi= 1,000 — 

kl 800 — 



C;kt 360 — 

cV~Vk 40 — 

edku 600 — 

osru 960 — 

etnwjh 1,040 — 

 35,800 35,800 

vfUre jgfr;k ` 3]940A 
From the following Trial Balance of Narayan prepare Trading and Profit and Loss account 
for the year ending 31st March, 2022 and a Balance Sheet as on that date : 

 ` ` 

Capital — 10,500 

Opening Stock 3,000 — 

Purchase 5,960 — 

Return Inward — 180 

Return Outward — 15,240 

Sales 560 — 

Carriage on purchase 800 — 

Carriage on sales 1,600 — 

Drawing 720 — 

Rent 600 — 

General Expenses 600 — 

Commission — 800 

Bank Balance 1,200 — 

Cash 400 — 

Bills Payable — 6,000 

Book Debts 4,000 — 

Creditors — 3,080 

Building 8,000 — 

Machinery 4,000 — 

Bills Receivable 1,000 — 

Depreciation 800 — 

Interest 360 — 

Discount Allowed 40 — 



Houses 600 — 

Salaries 960 — 

Wages 1,040 — 

 35,800 35,800 

Closing stock ` 3,940. 

24- xkuZj cuke ejs ds fu;e ij ,d fucU/k fyf[k,A D;k ;g Hkkjr esa Hkh ykxw gksrk gS \ 
Write an essay on Garner vs. Murray Rule. Does it apply in India also ? 

 
 
 
 
 
 
 
 
 
 
 

 

 
 

 

 



I–122 

(Assignment Work)

(Group–I)

 BUSINESS MATHEMATICS

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- fdlh la[;k ds lkekU; y?kqx.kd ds fdrus Hkkx gksrs gSa \ mu Hkkxksa ds uke fyf[k,A 
How many parts does the common logarithm of a number have ? Write the names of those 
parts. 

2- vpj jkf'k dk vodyu fdruk gksrk gS \ 
How much is the differentiation of a constant ? 

3- lefer vkO;wg D;k gS \ 
What is symmetric matrix ? 

4- lkjf.kd esa ifDr;ksa rFkk LrEHkksa dh la[;k -------------- gksrh gS] ftlds dkj.k lkjf.kd dk :i -------------- gksrk 
gSA 



The number of rows and columns in the determinant is ............ due to which the form of the 
determinant is ............ . 

5- js[kh; izØeu esas ^js[kh;* dk D;k vFkZ gS \ 

What is the meaning of linear programming ? 

6- oxkZuqikr D;k gS \ 

What is square ratio ? 

7- foKfIr ewY; D;k gS \ 

What is the market price ? 

8- vkSlr D;k gS \ 

What is Average ? 

[k.M&c 

(Section—B) 

9- fuEu Qyu ds fy, dy

dx
 Kkr dhft, % 

2 25 2 3 1x xy y    

Find 
dy

dx
  for the function : 

2 25 2 3 1x xy y    

10- y?kqx.kd dh lgk;rk ls x dk eku Kkr dhft, % 

Find the value of x with the help of logarithm : 

where : x = 
1.5 1.2

0.036


 

11- vkO;wg A rFkk B dk xq.kk dhft, % 
1
2

A [1 2 3 4], B = 
3
4

 
 

  
 
 

 

multiply Matrix A and B : 



1
2

A [1 2 3 4], B = 
3
4

 
 

  
 
 

  

12- js[kh; izØeu ds ykHk fyf[k,A 

Write the advantages of linear programming. 

13- okÆ"kdh ls vki D;k le>rs gSa \ 

What do you understand by Annuity ? 

14- deh'ku dh /kkj.kk dks le>kb,A 

Explain the concept of commission. 

 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- mfPp"B ,oa fufEu"B ds fopkj dks le>kb,A 

Explain an idea of maxima and minima. 

16- fuEufyf[kr lkjf.kd dk eku Kkr dhft, % 
3 4 2

A 7 1 5
5 3 1


  

Find the value of the determinant : 

3 4 2
A 7 1 5

5 3 1


   

17- nks la[;kvksa dk ;ksx 40 rFkk vUrj 4 gSA mu la[;kvksa dk vuqikr D;k gS \ 
The sum of two numbers is 40 and difference is 4. What is the ratio between the numbers ? 

18- fdrus o"kks± esa ` 1]500 dk feJ/ku ` 1]762 gks tk;sxk tcfd pØo`f) C;kt dh nj 5 1
2 %  okÆ"kd gSA 

In how many years a sum of ` 1,500 will amount to  
` 1,762 at 5½% of p.a. compound interest ? 

 



l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- Qyu 3 2Y 2 15 36 11x x x     ds mPpre o fuEure ewY; Kkr dhft, % 
Find the maximum and minimum values of the function : 

3 2Y 2 15 36 11x x x     

20- ;fn 
2 1 0

A 5 6 3
9 2 7

 
 
 
 

 rFkk 
3 0 1

B 2 3 6
0 1 4

 
 
 
 

 gks] rks  

2A – 5B + 8I  dk eku Kkr dhft,A 

If 
2 1 0

A 5 6 3
9 2 7

 
 
 
 

and then find 
3 0 1

B 2 3 6
0 1 4

 
 
 
 

then find 2A – 5B + 8I. 

21- firk dh orZeku vk;q vius iq= dh vk;q ls rhu xquh gSA 6 o"kks± iwoZ mldh vk;q iq= dh vk;q dh 4 

xquh FkhA 6 o"kks± ds i'pkr~ mudh vk;q dk vuqikr D;k gksxk \ 

At present father’s age is thrice than that of his son. 6 year back his age four times than that 

of the son. What will be the ratio of their ages after 6 years ? 

22- ,d O;kikjh us dqN lkbfdysa [kjhnha ftudk vkSlr ewY; izfr lkbfdy ` 190 FkkA 10 lkbfdyksa dk 

vkSlr ewY; ` 175 Fkk vkSj 'ks"k lkbfdyksa ds fy, ;g ` 200 FkkA dqy Ø; dh xbZ lkbfdyksa dh 

la[;k crkb,A 

A trader purchased some bicycles. The average price per bicycle was ` 190. The average 
price of 10 bicycles was ` 175 and that of remaining bicycles it was ` 200. Find the number 
of bicycles purchased. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- fuEufyf[kr dk eku Kkr dhft, % 
2log 6 6log 2

4log 2 log 27 log 9


 

 

Find the value of the following : 



2log 6 6log 2

4log 2 log 27 log 9


 

 

24- ,d foØ;drkZ izfrekg ` 5]000 osru rFkk foØ; ij 2% deh'ku izkIr djrk gS vFkok mls foØ; ij 
dqy 6% deh'ku fn;k tkrk gSA ;fn izR;sd voLFkk esa mldh okÆ"kd vk; leku gks rks foØ; dh 
jkf'k D;k gS \ 
A salesman gets a salary of ` 5,000 per month and 2% of commission on sales or he is given 
6% as total commission on sales. If he gets on equal income in both the cases in the whole 
year, what is the value of the sale ? 

 
 
 

 

 
 

 

 



I–123 

(Assignment Work)

(Group–II)

 O;kolkf;d lapkj ,oa lEizs”k.k

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- Jksrk lEiw.kZ lEizs"k.k dk dsUæ fcUnq gksrk gSA lR;@vlR; 

Audience is a central point of whole communication.   True/False 

2- ekSf[kd lEizs"k.k ,oa nSfgd lEizs"k.k ¼Hkk”kk½ esa dksbZ lEcU/k ugha gksrk gSA  lR;@vlR; 

There is no relationship between oral communication and body language.  True/False 

3- vukSipkfjd lEizs"k.k ds dqy -------------- izdkj gSaA 

Types of informal communication are .......... . 

4- laxks"Bh dks ,d NksVs lewg esa -------------- ds :i esa ifjHkkf"kr fd;k tkrk gSA 



A seminar may be defined as a ............ in a small group. 

5- vuqdwy laokn i= D;k gksrk gS \ 

What is good news letter ? 

6- f'kdk;rh i= D;k gS \ 

What is complaint letter ? 

7- lk{kkRdkj ls vki D;k le>rs gSa \ 

What do you understand by interview ? 

8- WWW dk vfHkizk; ------------- gSA 

Meaning of WWW is ............. . 

[k.M&c 

(Section—B) 

9- izfriqf"V dh fof/k;k¡ crkb,A  

Describe the methods of feedback. 

10- lkewfgd ifjppkZ ds Hksn fyf[k,A 

Write kinds of group discussion. 

11- lEesyu ds vFkZ ,oa mís'; crkb,A 

Discuss the meaning and objectives of conference. 

12- ekSf[kd lEizs"k.k dks izHkkfor djus okys rRoksa ij izdk'k Mkfy,A 

Discuss the factors affecting the oral presentation. 

13- rdkns ds i= fy[krs le; fdu&fdu ckrksa dk /;ku j[kuk pkfg, \ 

What points should you bear in mind while writing a dunning letter. 

14- ßvk/kqfud lwpuk ra= us lalkj dks ,d fo'o xk¡o esa cny fn;k gSAÞ Li"V dhft,A 

“Modern communication system has changed the world into a world village.” Discuss. 

l=h; dk;Z&2 
(Assignment—2) 

[k.M&l 

(Section—C) 



15- lEizs"k.k ds vUrxZr O;kogkfjd ysu&nsu dh fopkj/kkjk dks Li"V dhft,A 

Classify the transaction theory of communication. 

16- vaxwjhyrk lEizs"k.k dk vk'k; ,oa fo'ks"krk,¡ crkb,A 

Explain the meaning and characteristics of grapevine communication. 

17- izfrosnuksa dk egRo le>kb,A 

Explain the importance of reports. 

18- nSfgd Hkk"kk D;k gS \ blds izeq[k ek/;eksa dk foLrr̀ o.kZu dhft,A 

What is body language ? Discuss its various aspects in detail. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 

(Section—D) 

19- ^vkRe ,oa fodkl* dks Li"V dhft, rFkk vkRe fodkl ds vk/kkj dks le>kb,A 

Clarify the ‘Self and Development’ and also explain the foundation of self development. 

20- lEizs"k.k esa dkSulh lkekU; ck/kk,¡ vkrh gSa \ bu ck/kkvksa dks fdl izdkj nwj fd;k tk ldrk gS \ 

What are the common barriers to communication ? How do you overcome these barriers ? 

21- ys[ku dq'kyrk ls vkidk D;k vfHkizk; gS \ ys[ku dq'kyrk ds fofHkUu pj.k dkSu&dkSu ls gSa \ 

What do you mean by writing skills ? What are the steps of writing skills ? 

22- izHkkoh lquus ds mís';] izdkj ,oa lquus esa #dkoVksa dh O;k[;k dhft,A 

Explain the objectives, types and barriers of effective listening. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 

(Section—E) 

23- lans'kokgu dh ifjHkk”kk nhft, vkSj O;olk; izcU/k esa izHkkoh lans'kokgu ds egRo dh foospuk dhft,A 



Define communication and discuss the importance of effective communication in business 

management. 

24- bZ&dkWelZ D;k gS \ bZ&dkWelZ dh dk;Ziz.kkyh ,oa ykHkksa dh foospuk dhft,A 

What is E-Commerce ? Describe the process and advantages of E-Commerce. 

 

 

 
 
 
 
 
 
 

 

 
 

 

 



I–124 

(Assignment Work)

(Group–II)
 O;kolkf;d fu;eu ,oa :Ikjs[kk

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

 [k.M&v 
(Section—A) 

1- vuqca/k D;k gS \ 
What is contract ? 

2- izLrko D;k gS \ 
What is proposal ? 

3- O;FkZ Bgjko D;k gS \ 
What is void agreement ? 

4- mRihM+u D;k gS \ 
What is coercion ? 

5- izfrQy D;k gS \ 



What is consideration ? 

6- viokn D;k gS \ 
What is exceptions ? 

7- fufnZ”V fu”iknu D;k gS \ 
What is specific performance ? 

8- gkfuj{kk vuqcU/k dh ifjHkk”kk fyf[k,A 
Write the definition of Contract of Indemnity. 

[k.M&c 
(Section—B) 

9- ,d oS/k vuqcU/k ds vko’;d y{k.k D;k gSa \ 
What are essentials of valid contract ? 

10- LohÑfr ls vki D;k le>rs gSa \ 
What do you understand by acceptance ? 

11- fxjoh dks le>kb,A 
Discuss pledge. 

12- ,tsUVkas ds izdkj fyf[k,A 
Write the kinds of Agent. 

13- foØ; vuqcU/k ds y{k.kksa dk o.kZu dhft,A 
Describe the characteristics of a contract of sale. 

14- ‘krZ rFkk vk’oklu esa vUrj fyf[k,A 
Differentiate between conditions and warranty. 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- eky foØ; dk Bgjko foØ; esa dSls ifj.kr gks ldrk gS \ 
How does an agreement to sell become a sale ? 

16- foØ; vuqcU/k ds fu”iknu ds lEcU/k esa Øsrk rFkk foØsrk vf/kdkjksa dk o.kZu dhft,A 
Describe the rights of the buyer and the seller in connection to the performance of contract 
of sale. 

17- Øsrk ds izfr O;fDrxr :i ls vkSj eky ds izfr vnŸk foØsrk ds D;k vf/kdkj gSa \ fyf[k,A 



What are the rights of an unpaid seller against the buyer personality and against the goods ? 
Write. 

18- fdjk;k&Ø; Bgjko ls D;k vk’k; gS \ bldh izeq[k fo’ks”krk,¡ crkb,A 

What is meant by hire purchase agreement ? Explain its main characteristics. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- ijØkE; foys[k dh ifjHkk”kk nhft, vkSj fo’ks”krkvksa dk o.kZu dhft,A 
Define a negotiable instrument and state the characteristics. 

20- psd ds js[kkadu dk D;k vFkZ gS \ psd ds js[kkadu dh fofHkUu fdLesa crkb,A 
What is meant by crossing of a cheque ? Explain the various kinds of crossing of cheque. 

21- ijØke.k ls vki D;k le>rs gSa \ bldh fof/k;k¡ crkb,A 
What do you understand by negotiation ? Discuss its methods. 

22- miHkksDrk ds ewy vf/kdkjksa dk o.kZu dhft,A 
Discuss the basic rights of consumers. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- lwpuk dk vf/kdkj vf/kfu;e] 2005 D;k gS \ foLrkj ls le>kb,A 
What is Right to Information Act, 2005 ? Explain in detail. 

24- vuqcU/k dh lekfIr ls D;k vk’k; gS \ vuqcU/k dh lekfIr dh fof/k;ksa dks le>kb,A 
What is meant by discharge of a contract ? Explain the methods of a discharge of contract. 
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(Assignment Work)

(Group–III)
 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- lalk/kuksa dh deh dsoy xjhc ns'kksa es mRiUu gksrh gSA      ¼lgh@xyr½ 
Scarcity of resources arises only in poor countries.     (True/False) 

2- ek¡x dk fu;e çfrf"Br oLrqvksa ij ykxw ugha gksrk gSA      ¼lgh@xyr½ 
The Law of Demand is not applicable to prestige goods.   (True/false) 

3- dkWc&Mxyl dk mRiknu Qyu dk lw= fyf[k,A 

Write Cobb-Douglas’ production function formula. 



4- vYidky esa] vkSlr fuf'pr ykxr fxjrh jgrh gS D;ksafd QeZ vius mRiknu dh ek=k esa o`f) djrh 
gSA ¼lgh@xyr½ 
In the short run, average fixed cost keeps falling as the firm increases its quantity of output.
 (True/False) 

5- gkFkh nk¡r dh pwfM+;ksa dk cktkj fdl çknsf'kd cktkj ds vkl&ikl ik;k x;k \ 
The market for ivory bangles was found around which regional market ? 

6- ßek= /ku ds ihNs Hkkxuk O;olk; ugha gSAÞ ;g dFku fdldk gS \ 
“Business is not just running after money.” Whose statement is this ? 

7- vkfFkZd yxku lhfer rFkk fu#Riknuh; lk/ku ds mi;ksx ds fy, Hkqxrku gSA fdldk fopkj gS \ 
Whose idea is economic rent as payment for the use of limited and unproductive resources ? 

8- uoçorZu fl)kUr dk çfriknu fdl lu~ esa fd;k x;k \ 
        In which year was the innovation theory propounded ?  

[k.M&c 

(Section—B) 

9- vFkZ'kkL= ds lS)kfUrd egRo le>kb,A 
Describe theoretical importance of economics. 

10- dher&iz.kkyh ds izfrcU/k D;k gSa \ 

What are the restrictions of price mechanism ? 

11- bdkbZ dh leku ek¡x dh yksp dks le>kb,A 

Explain unitary elastic demand. 

12- nh?kZdkyhu vkSlr ykxr oØ ds y{k.k D;k gSa \ 

What are the characteristics of the long-run average cost curve ? 

13- ,dkf/kdkj dk fu;U=.k fdl çdkj lEHko gS \ 

How is control possible over monopoly ? 

14- ßyxku fof'k"Vrk dk ikfjrksf"kd gksrk gSAÞ foospuk dhft,A 

“Rent is a reward for specificity.” Critically examine. 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 



15- mRifÙk ds fu;eksa dk ykxr ds fu;eksa ls lEcU/k crkb;sA 

Discuss relationship of the laws of return with the laws of costs. 

16- okLrfod ykxr rFkk volj ykxr esa vUrj crkb;sA 

Differentiate between real cost and opportunity cost. 

17- {ks= o le; ds vk/kkj ij cktkj dk oxhZdj.k Li"V dhft,A 

Explain the classification of market according to the area and time. 

18- vkfFkZd yxku rFkk Bsds ds yxku esa vUrj crkb,A 
Give difference between economic rent and contract rent. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 

(Section—D) 

19- fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

(i) foLrkj iFk 

(ii) vkfFkZd {ks= dh lhek,¡ 
Write short notes on the following : 

(i) Expansion Path 

(ii) Boundaries of Economic Region 

20- volj ykxr dk fl)kUr D;k gS \ volj ykxr dk egRo fyf[k,A 
What is opportunity cost theory ? Write significance of the concept of opportunity cost. 

21- ,dkf/kdkjh çfr;ksfxrk D;k gS \ ,dkf/kdkjh çfr;ksfxrk ds vfLrRo ds fy, vk/kkjHkwr vko';drkvksa 
dk o.kZu dhft,A 
What is monopolistic competition ? Discuss the fundamental pre-requisites for the existence 
of monopolistic competitions. 

22- yxku ds vk/kqfud fl)kUr dh foospuk dhft,A fjdkMksZ ds yxku fl)kUr ls ;g fdl çdkj fHkUu 
gS \ 
Discuss the modern theory of Rent. How does it differ from the Ricardian theory of Rent ? 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 



(Section—E) 

23- mRiknu D;k gS \ mRiknu ds lk/ku dkSu&dkSuls gaS \ budk lkisf{kd egRo crkb;s A 

What is Production ? What are the various factors of production ? Give their relative 
importance. 

24- ßC;kt rjyrk ds ifjR;kx dk iqjLdkj gS] rFkk og æO; dh ek¡x vkSj iwfrZ }kjk fu/kkZfjr gksrk gSAÞ 
foospuk dhft,A 
“Interest is the reward paid for parting with liquidity, and it is determined by the demand of 

money and supply of money.” Discuss. 
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(Assignment Work)

(Group–III)

 O;kolkf;d i;kZoj.k 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- O;olk; dk mís’; ---------------- vko’;drkvksa dks iw.kZ djuk gSA 
Object of business is to fulfill the need of .............. . 

2- cpr dk lEcU/k ----------- ds LoHkko ls Hkh gSA 
Saving is related with also the nature of ............. . 

3- Hkkjr esa ------------- csjkstxkjh dh leL;k ns[kh tk ldrh gSA 
................. Unemployement problems can be seen in India. 

4- ?kkVs ds ctV dks iwjk djus ds fy, ------------ dk fuxZeu djuk iM+rk gSA 



To fulfill the deficit budget ........ can be issued. 

5- th- Mh- ih- esa Mh dk vFkZ ----------- gSA 
Meaning of ‘D’ in GDP is ............. . 

6- ubZ vkS|ksfxd uhfr -------------- o”kZ esa ykxw dh xbZA 
New Industrial Policy applied in the year of .............. . 

7- fons’kh O;kikj ls ----------- dk foLrkj gksrk gSA 
From foreign trade .......... is expanded. 

8- fo’o cSad o varjkZ”Vªh; eqnzk dks”k dh LFkkiuk ------------ lEesyu esa gqbZ FkhA 
World Bank and International Monetary Fund established in ................ conference. 

[k.M&c 

(Section—B) 

9- eqnzk dk vFkZ le>kb,A 
Explain the meaning of money. 

10- foŸk ls D;k vk’k; gS \ 
Explain the meaning of money. 

11- ekSfnzd uhfr ls vki D;k le>rs gSa \ 
What do you understand by monetary policy ? 

12- O;kikj uhfr ls D;k rkRi;Z gS \ 
What is meant by Trade Policy ? 

13- {ks=h; vkfFkZd lg;ksx dk D;k vFkZ gS \ 
What is meant by regional economic co-operation? 

14- izR;{k fons’kh fuos’k ds ckjs esa vki D;k tkurs gSa \ 
What do you know about the Foreign Direct Investment ? 

l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 

(Section—C) 

15- oS’ohdj.k D;k gS \ blds mís’; crkb,A 



What is Globalization ? Explain. 

16- iw¡th cktkj ls vki D;k le>rs gSa \ 
What do you understand by capital market ? 

17- O;kikj larqyu ls vki D;k le>rs gSa \ 
What do you understand by Balance of Trade ? 

18- fo’o cSad ds izeq[k mís’;ksa dks fyf[k,A 
Write main objects of World Bank. 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- varjkZ”Vªh; eqnzk dks”k D;k gS \ blds dk;ks± dks fyf[k,A 
What is International Monetary Fund ? Write its functions. 

20- Hkkjr ds fons’kh fofue; izcU/k vf/kfu;e ¼Qsek½] 2000 ds mís’;ksa rFkk fo’ks”krkvksa dh foospuk dhft,A 
Explain the objectives and characteristics of  Foreign Exchange Management Act (FEMA), 
2000 Act of India. 

21- eqnzk LQhfr ls vki D;k le>rs gSa \ eqnzk LQhfr ds dkj.kksa ,oa izHkkoksa dh foospuk dhft,A 
What do you understand by Inflation ? Discuss the causes and effects of inflation. 

22- Hkkjr esa {ks=h; vlarqyu ds dkj.kksa ij izdk’k Mkfy, rFkk bUgsa de djus ds mik; le>kb,A 
Throw light on the causes of regional imbalances in India. Suggest measures to reduce them. 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- lekukUrj vFkZO;oLFkk ls vki D;k le>rs gSa \ dkys /ku dh mRifŸk ds dkj.k ,oa dkys /ku dh 

leL;k ds lek/kku ds fy, ljdkjh iz;klksa dh foospuk dhft,A 

What do you understand by parallel economy ? Write the causes of generation of black 

money and explain the measures taken by Government to solve the problem of black money. 



24- Hkkjr esa csjkstxkjh dh leL;k dh O;k[;k dhft,A bl leL;k ds lek/kku ds fy, ljdkj us D;k 

mik; fd, gSa \ 

Discuss the problem of unemployment in India. What measures has the government taken to 

mitigate it ? 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 


